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C1 C2 C3 C4 E1 E2

F1 -0.44 0.26390
9
25
σ2 0.25

fX,Y (0, 1) = 1
15

fX,Y (0, 3) = 2
15

fX,Y (1, 1) = 2
15

fX,Y (1, 3) = 2
3

cov(X,Y ) = 4
75

FX(x) =


0 se x < 0
sin(2x) se 0 ≤ x < π

4

1 se x ≥ π
4

P[X > π
6 ] = 1−

√
3

2

E[X] = π
4 −

1
2

E[ 1
cos(2x) ] = π

2

F2 -0.32 0.62419
11
25
σ2 0.875

fX,Y (0, 1) = 2
15

fX,Y (0, 3) = 4
15

fX,Y (1, 1) = 4
15

fX,Y (1, 3) = 1
3

cov(X,Y ) = − 4
75

FX(x) =


0 se x < 0
1− cos(2x) se 0 ≤ x < π

4

1 se x ≥ π
4

P[X > π
6 ] = 1

2

E[X] = 1
2

E[ 1
sin(2x) ] = π

2


